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M.Com. 
3rd Semester Examination, July-Dec., 2021 

Paper IIl 

Advanced Cost Accounting 

Time: Three Hours] [Maximum Marks: 80 
[Minimum Pass Marks: 16 

Note Answer all questions. All questions carry equal 
marks. 

71/Unit-1 

1. (a) ufiadawiteran 3TT 7A 

Explain the classification of 
according to flexible aspect. 

Cost 
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(3) 
(2) 

Total annual usage 25600 units 

(b) HIt fizu A. B, C a6 T 

20 Cost per unit 

F 100 
Explain A. B. C techniques of material 

Cost per order 

control.

Carrying cost is 10% of purchase cost. If 

3YT/OR order is placed for 4000 units, the seller 

provides 5% discount. Is it profitable to get 

discount or not ? 

HIA, F61/ Unit-II 

tfa 
2. faffen al FHHI^r : 

25600 I^4T 

(a) siH TAI 
T 20 

7100 

10% af 
Explain the following 

4000 4E4i 1 3T�T feaT IAI, 
(a) Bedaux plan faca5% , g IA AI 

(b) Marick scheme 

(c) Gante Bonus plan 
From the following information, calculate the 

Economic order Quantity, ordering cost. and 3YT/OR 

total cost: 
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(5) (4) 

6T/ Unit-III 

10 6T 3. fqrafafa a1 TATST: 

10 wfa yr2 (a) 3T5Td ATA 

6, 8, 10, 12 

Explain the following: 
5% 66.7%-75% (a) Job costing 

75%-90% 10% 
(6) Joint costing 

15% 90%-100% 
(c) Determination of profit and loss on 

100% 20% contract 

1% 3777/OR 

8 hours Standard Time 

10unit 1 3, 2020 91 4TYTR T 541 
Standard production 

Wage rate 710 per unit 

Bonus rate as following : 

Efficiency percentage Bonus 1,00,000 

66.7%-75% 59%% T 30,000 

75%-90%6 10% T 1,60,0000 

90%-100% 15% T 10,000 

100% 20% 
Every Extra 1% 
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(6) 
(7) 

7 6.000 and materials with cost 7 1.000 were 

31 HT, 2021 3H T T 2,56,000 

lost. On 31st March. 2021 plant which cost 

7 4.000 was returned to store. The cost of 

work done uncertified was2,000 and 

materials costing 7 4,600 were in hand on 

HTHT 7 I 31 T, 2021 7 4,000 
Site. 

Charge 15% depreciation on plant and prepare 

a contract account from the above particulars. 

4TE/ Unit-IV 

4. f-fafen 7 ifrT feufoai fafay 

Sweet look and Son's a firm of building (a) HT4T 47 

contractors. began to trade on 1st April, 2020. 

The following was the expenditure on a 
(b) TH4I7 ¥7 

contract for 7 6,00,000. (c)3H 

Materials issued to contract 1,00,000 

Plant used for contract 30,000 Write short notes on the following: 

Wages paid F1,60,000 
(a) Normal wastage 

Other office expenses paid 710,000 
(b) Abnormal wastage 

(c) By costing 

Cash received on Account to 31st March, (d) Joint costing 

2021 amounted to 2,56,000 being 80% of 

the work certified. Of the plant and materials PY/OR 

charged to the contract, plant which cost 
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(8) (9) 

5 fufu rem À A fafu 1 3YIR B fafy 
The scrap value of normal wastage is50 

per hundred units in process A and 7 80 per 
hundred units in process B. The expenses 

HTHT A 3i B fafi J4T: 5% were as follows: 

10% I HTH &4 1 3TNT A 

faf s0 sfa 100 AI^T* 3itt B fafu 

80 t 100 1_4Ti *i frafafaa ar 

Process A |Process B 

Materials 10,000 6,000 

Wages 8,000 4,000 Process A Process B 

) Manufacturing exp. 2,000 2,000 ) 

10,000 6,000 In Process A 1000 units were entered at a 

8,000 4,000 cost of F 5,000. The output of Process A is 

900 units and of Process B 750 units. Prepare 
2,000 2,000 

process accounts and also show Abnormal 

A fafy 1000 4134i À 7 5,000 aa Wastage Account. 

yI f531|A fafy i 3GA 900 zT^ 

3TR B faf 1 3F1EA 750 zI34TI UthAT FI/Unit-V 

John & Co. y4 fa4TE 2020 3F X 5. 

In a manufacturing concern the output of A 

process is transferred to B process. It has been 
the experience that the normal wastage of the 

units entering each process is 5% and 10% in 

A and B processes. 

100007IE 

8000 T_T 

12000HI_T 
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(11) (10) 
A study of past experience that John & Co. fat 4 sfa z4T - F 100 
has lost about 3% of the billed revenue in 
each quarter because of returns (constituting 
2% of loss revenue) allowance and bed debts f4 gTE q- 25% (1% loss). 

fat (sfa zs) i z- 10% Prepare the sales budget for the first quarter 
2021 incorporating the above information. 

7YT/OR 
2% fa ary à Hafa a 1% 

fad fI 
34T H4Td 3TTR T John & Co. What is Budgetary Control? Discuss its 
y4 fari 2021 fes fai que * objects and importance. 

John & Co. submits the following figures of 
sale of products X for the first quarter 2020: 

January 10000 units 

February 8000 units 
March 12000 units 

Selling price per unit-7 100 
Target of first quarter 2021 
Sales units increase by- 25% 

Selling price (per unit) increase by- 10% 

200 
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